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STATISTICS .
( Skﬂl Enhancement Course)

‘Answer the Questlons from any one' Optlon :

. OPTION - A
( Statistical Data Analysis using R )
' Paper : STA-SE-4014.
OPTION -B
( Database 'Management System )
 Paper : STA-SE-4024
OPTION-C -
( Statistical Techniqués for
Research Methods) '
- Paper : STA—SE—4034
Full Marks : 50 |
Time : Two hours

The figures in the margin indicate
full marks for the questions.

Answer either i zn Englzsh or in Assamese. |
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OPTION-A " T () Which of the following statements is
A ; | true with respect to R language
( Statistical Data Analysis using R) software
Paper. : STAZSE-4014 (i) The variables can. be assigned

values using only the leftward

1. Answer the following questions : ‘1X4=4 operator (<-)
(@ InR programming, the function class|() ~ (1) The variables can be assigned
belongs to which library ? _ ~values using only the rightward
. : operator (->) '
l]). | SEE (i) The variables can be assigned

(ii) base ‘ ' values using only equal to
operator (=)

(iii) utils ‘ (tv) The variables can be assigned
_ ‘ values using leftward, rightward
(iv) class and equal to operator.

( Choose the correct option )

; ( Choose the correct option )
(b) Which function cannot be used to

import a CSV file in R? () function is used for creating
. y ' dataframe in R.

(et el ' () data.frame()

(ii) read-csv() ‘ (ii) dataframe()

, (i) -dataframe()
(iti) read_excel() (iv) data frame()

(iv) None of the above
' ( Choose the correct option )

( Choose the correct option )
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Answer the following questions : 2x3=6

(a) Mention any two advantages of using'
R software.

(b) List and define some basic ~data
structures in R.

(c) What is the difference between seq()

and rep() functions in R language ?

Answer the following questions : (any two)

(@)
(b)

(d)

5x2=10 .

Give any five features of R.

Write down the R command to draw a
pie chart for the following dataset :

IISER1S H2PED8 £ 30, 32

Write down the R command for
calculation of arithmetic mean and

variance for given % [E=12,..., 7):
Using R program, implement the
following : ‘

A sequence from'5 to 10 with a gap 0-2
using seq() function.
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4. Answer the following questions : (any three}

10x3=30
(@ A random sample of 10 boys had the
following I.Q’s : A

70, 120, 110, 101, 88, 83, 95, 98, 107, 100

Using R programming language
determine whether the above data
support the assumption of a
population mean 1.Q. of 100 ?

(b) Write R codes to

() draw frequency polygon for a
given data; S

(ii) draw boxplot for a given data. 5

(¢ () For the given vectors x and y,

write R codes to- fit a line of
regression and plot a graph. S

(W) If on an .average, a student
completes four assignments in a
day, what is the probability that
he/she will complete to
assignments on the next day ?
[Write an R code for the above
question] 5

(d) Write down R codes to fit a binomial
distribution for a given

)%__ (i=1,2,.,9) and also test the
1

goodness of fit.
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(e) Given the foIlowihg dataset :

X Y .
65 | 67
66 | - 68 .
67 65
67 68
68 72
60 | 72

Write ‘down the-R command- to carry
out the correlation coefficient between
X and Y.

() Using R software, fit a . Poisson
. dlstrlbutmn to the followmg data :

No. of errors No. of pages
in a page :
0] 142
1 156
2 69 .
3 $ 27
4 5
o ‘ 1
Total 400
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OPTION -B
, ( Database Management System) ‘

Paper : STA.—SE—4024

1. Answer the followmg questlons as

. d1rected 1x4=4

- (i) Wthh of the followmg is not a type of
database ?

(a) Hierarchial
. (b) Network
(c) Dlstnbuted o
(d) Decentrahzed ;u - '
(Choose the correct optlon)

(i) Wthh of the followmg is not an
example of DBMS ? ’

(@) MySQL

(b) 'Miorosoft Aco‘e_ss

(c) IBM DB2

(d) Google - | |
(Choose the correct option)

3 (Sem-4/CBCS) STASE 1/2/3/G 7 Contd.




(iii)

(iv)

2. Answer the following questions :

(@)
(b)

ol

Which command is used to remove a
relation from an SQL ?

(a) Drop table
(b) Delete
(d) Purge

(e) Remove
 (Choose the correct option)

Which of the following is not the utility
of DBMS ?

(a) Backup
(b) Data loading
(c) Processes organization
(d) File organization | :

(Choose the correct option)
2x3=6
Define data model.

State the levels of data abstraction in
DBMS.-

"What is normalization ?
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Answer any two of the following: 5x2=10

(@)

(b)
(c)

(d)

Define Entity type, Entity set, Key
attribute, Value set.

Define 1NF, 2NF and 3NF.

What are aggregate functions ? List the
aggregate functions supported by SQL.

Define foreign key and superkey‘with
proper example.

Answer any three of the following :

(@

(b)
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10x3=30

What do you mean by databse
management system ? What are the
major areas of application of databae
management system? What are the

" major advantages and disadvantages

of database management system ?
2+3+5=10

(i) Define database. Explain different
types of databases. S

(i) Explain 2-tier architecture in
DBMS with example. S
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()

(d)

(e)

(i) What are the purposes of databse
managame;r}t system ? . -5

(i) Write the characteristics  that
distinguish ~ the database
~approach with  the filebased .
approach? = -~ 5

(i) Differentiate file processing

‘system from -database

. management system. -

(i) What are the disadvantages of file

_processing system? - 5

What is SQL ? Name the categories of
SQL commands. Differentiate between
static SQL and .dynamic SQL.

2+4+4-10

Write down the steps used for °

conversion of ER dlagrams to relation

database
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L (b) Sample is a

OPTION C

(. Statistical Techniques for
Research Methods)

Paper : STA-SE-4034

Answer the followmg questxons " 1x4=4

(a) Study of each umt of a popula-tion is

known as

(Flll in the blank)

aﬁmﬁ»@ﬁ%&ﬂmﬁwm :

of po'pula-‘mor.x'.

e:f%wf - e a%i . .
O o )

(c) Complete enumeration is  more
expensive in comparison to sample

survey. : (State True or False)
e AATFR ——«w‘ m«f st ofafe @R
sl - (oF1 a1 firy B )
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(d) 1f respondent is __ , then

questionnaire method cannot be -

adopted for data collection.

(Fill in the blank)

i TE TGS
eraroiferl #f0AR Oy MR wS Fow a7
IR | (T 312 279 )

Answer the following questions : 2x3=6
oot fuzl ePTIRd Oed il ¢

(a}‘ Define statistical data with example.

AR RIS ©E el SHigIeE@ ee Wl |

(b)) What do you
population ? Give example.

% geret & gere Surese fra |

understand by

(c) Describe a schedule.

SIPIb 1§ R el |
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Answer any two of the following questions :
5x2=10

ot il ePTIRE o1 Rl ot e B il &

(@) Write a note on the difference between
qualitative and quantitative research .

approaches.

oo O AR IRl AR e
A1 @sie ol I R ‘

(b) - Describe the advantages of sample
survey.

eifere I R 394 @

(¢) Write a note on the characteristics of

an ideal questionnaire.

Q2 e epsieias RREETRR R @6t Gl
o7l |

(d) What do you understand by primary
data?  Briefly different
methods of collecting primary data.

explain

T o oA B @ YU oey Heeled
Aol PRR DI I F |
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4. Answer any three “of _th_e following

A questmns :

(a)

.(b)

(o)

10%x3=30
ﬁmmﬁmﬁm (ﬁmmféﬁﬁr)

What are dlfferent types of research ?
Write in brief about the necessity of

research

ﬂ@ﬂmﬁsﬂﬁmmﬁﬁ?mm,

emvmﬁaaﬁhmasjr$ﬁ#ml

Write some statlstlcal techmque.s for

‘ data analysis.

; oy RoRen Rt AR e
R et

What do you understand by data
interpretation?  What are  the

precautionary . measures should be

‘taken in interpreting data ?

?@axanﬂn’ﬁﬁna'ﬁﬁéﬁﬂ?vﬁ«?«kﬂﬁ'c$é@
AT ARSI R B |
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- (d) What do you understand, by secondary

data ? Descnbe the sources of
secondary data. -

- cﬂﬁq@mqﬁmﬁsw? C‘WWN@QW
: ﬁmaﬁw: - *

- What are different types of errors

present in sample survey ? Explain it.

‘-afﬁaf aﬁ%ﬁr- elis E?"Fﬂ ﬁﬁéa 999 |

Wﬁmﬁwnl

Prepare a questmnnaJre for a study on
‘health and sanitation’ in your locality. -

‘WW&WWWWW

ﬁmwwﬁa‘maw emag@\gwl
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